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increase  if

hour after hour multiply multiply... by...

ia] challenge beginning at the beginning of square
hardly

more and more prefer prefer to. . .rather than. ..
rather than used beg beg one’s pardon worth
iL | second-hand

diagram discussion  be busy doing chart  download
path

What's the population of. . .?

I wonder if that's a lot of people for the size of the
country.
Thuemllbestandmgmnonlymtheearth
Tl'neyprefertobuyanewoneratherthanrepmnt
How much does a car cost. .. ?

It can cost as little as 50, 000 and as much as
300,000 yuan. -
That's worth more than two million yuan.

A EREE
I didn’ t know that they would be able to buy another

—_———

oo OF X W m

B

car.

o He didn’ tsaywi'mshewaq'@ng
B R

hundred , thousand , million, billion

(1)population A H , A3 ArI 84 1, E A “s", £
i, B Esh A AR BOE R,
()M AD#REZE D" Al what, A how many B how

ml.lﬂhu

(3) #5443 2% 291 population Fi [laxed | big) small) %141, 7 A
many, few, much, little,

A. What's B. What're 1
IGl-lt:wmuchis D. How many are '
Q '2:The population of China is farger than _(
“A. India B.in India

¥ yr_l;ﬂt of India D. those of dndia
&#thl} Mk,

Ay

4.?mknx#ﬁﬁﬁ“+ﬂ"khﬂfﬁ}e 1

(Dif M&biﬂ%“ﬁﬁ”.%l%ﬁﬁ&-ﬁu
(2)if #E IR, SIRAMERENG, 1
Let's see if we can find out some information about thea}_i

MR — R e AR BT R AR A — 2 B
If someone telephones,say I'm out.

';mﬁ“":s,wfaﬁ' RERAER.

ST C—

to help me if he
i

A. will come, will be

/B. will come, is

~C. comes, will be D. comes, is g

6. my[mnaeredifﬂwteamer them some |
English songs next week. !
A. would teach ~ =~ B.had taught

C. will teach D. taught

7 RS ATEREEERE, t

)

LB WRAAFM,RFRE |
L |
) ,/
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BAEER
Model867—vaghihamdredandmxtyswm i
s 4 {22 Ytneln j

9,835

68,502

463,890

o~

G Ere s D ey 0 @ T

2,657,485

34,508,576

686,787,595

1,785,654,320

12,640,530,489

50,598,875,342

(X&) 2]
FHZE, ARSEROHACDK

Population

(2000)
Australia 19,521,900
31,198,000
1,295,330,000
58,882,300
81,981,900
Great Britain 59,730,300
India 1,040,280, 700
New Zealand 3,828,600
The USA 284,620,400
The world 6,055,000,000

China

France

el R

[ZE&E3 3]
Uk 27
T . 648 5 YR 20 04 40 7 3 SO R 3

( 1. A
B.

w

What do you think of “standing room only™?
How do you think"standing room only™?

C. What do you mean by “standing room only™7
D.
A. They never answered what would happen to the

How do you mean “standing room only”?

world.

They never asked what would happen to the world.

. They didn’ t know what would happen to the

world.

. They knew what would happen to the world.

. Where do you get sheep?
Where do you buy sheep?
Where do you take sheep?
Where do wool and mutton come from?
Can you help me?

What can I do for you?

What can you do for me?
How can | help you

. He is busy mending a car.

His car is being mended.

He is planning to mend his car.
He is going to buy a car.

. RE, BREREE.

(" )1. A. It"s increasing.

It"s nearly increasing.

. It"s nearly sixty million.

Yes, it"s bigger than that of China.
. Yes, I think so.

No, 1 don't think so.

Yes, it"s big.

It’s big. .

. It's too expensive.

It costs me much money.

COFPUO®E>OO0®E>

It cost me 50,000 yuan.
I spent 50,000 yuan
. No,I can’t
I don’t have money.
It’s too dear.
Do you think so?
. Yes,it"s my car.
Thank you.
No, it isn't nice.
. I"'m sorry.
. "ﬁﬁ“ﬁﬂfﬁlﬁ HEFEETE R
(1. A. Atelephone. B. A cat.
( )2. A. To sell his watch.
B. To ask someone to mend his watch.
C. To go sometime.
( )3. A. Less than ten.
B. At least ten.
C. More than ten.
( )4. A.The plane is over there,
B. The plane leaves at twelve o' clock.
C. The plane leaves at two o' clock.
( )5. A. He has left already
B. He's still here.
C. Heisn't here yet.

POoOEPUOEPUOEPDOEPOOW B

C. A phone number.



TS -Unit 13 The world’ 2

HEED

[N
I . MOEE
1. Do you know the population of Shanghai 7
hat, is 8 how. smeh, is
“what's, A3 D. how many, are

2. There are nearly __ stydents in our school.

C i il s
3l = enough money next year, [ will buy a car.
\ }\\;'.;Zmd have B. should have

€. Have D. will have

4. He asked me if 1 back to my hometown for the

holjtlay.
! would Eo B.go
(€. will go D. went
5. China is larger than in Europe.

A.any other country

B. other countries

C. any countries

D. any country
[EEWR]

S B 6]

Most American families are 6 than the families in other
countries. Most American families have one or two parents and one
ortwo _ 7 each. -

Children in the USA will leave their parents’ home when
they 8 . They usually live 9 their parents because they
want to find 10 . They often write to their parents or
telephone them, And they often __ 11 their parents on holiday.

Parents usually let their children choose 12

think it important for young people to decide on their lives
13

Children are asked ~ 14  some work arourid their house.
And in many families, children 15  doing some housework so

that they can learn how to make money for their own use.

6. A. more B. ‘f_;_ew_far C. larger D. smaller
7. A, student B. students  C. child D. children
8. A{ grow B. growup  C. grow-ups D. get old
9. Al away from  B. away C farfrom  D. far
10.I A. good jobs B. good works

C. a job well D. a work well
11.7A. go B. go visit C. gotovisit D. goa visit
12. A.own jobs B. their own jobs

C. own their jobs D. jobs their own
13. A. by them B ‘by themselves

C. by himself D. by herself

14.A. do  B.doing C.todo  D. done
15. A. are paid B, are paid for C. pay for  D. paid for
[ B8 FAR]

Il FiRE s, I ERER

The world itself is becoming much smaller by using modem
traffic and modern communication means(ii #li% 4% ). Life today
is much easier than it was hundreds of years ago, but it has
brought new problems. One of the biggest problems is pollution.
To pollute means to make things dirty. Pollution comes in many
ways. We see it,smell it,drink it and even hear it .

Man has been polluting the earth. The more people, the more
pollution. Many years go, the problem was not so serious because
there were not so many people. When the land was used up or the
river was dirty in one place, man moved to another place. But this
is no longer true. Man is now slowly polluting the whole world,

Air pollution is still the most serious. It's bad for all living
things in the world, but it is not the only kind of pollution, Water
pollution kills our fish and pollutes our drinking water. Noise
pollution makes us angry more easily.

Many countries are making rules to fight pollution. They stop
people from burning coal(#)in houses and factories in the city,
and from putting dirty smoke into the air. Pollution by SO, is now
the most dangerous kind of air pollution. It is caused (3|i&) by
heavy traffic. We are sure that if there are fewer people driving,
there will be less air pollution.

The earth is our home. We must take care of it. That means
keeping the land, water and air clean. And' we must take care of
the rise in pollution at the same time.

16. your world is becoming much smaller.

A. Because of the rise in pollution

B. Thanks to science development

C. Because the earth is being polluted day and night

D. Because the earth is blown away by the wind every year
17. Hundreds of years ago, life was it is today.

A. much easier than B. as easy as

C. much harder than D. as hard as

18. Pollution comes in many ways. We can even hear it. Here “it”

means
A. rubbish B. noise pollution
C. air pollution D. water pollution

19. Air pollution is the most serious kind of pollution because

. it makes much noise

. it makes us angry more easily

it makes our rivers and lakes dirty

. it’s bad for all living things in the world

Oowp
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hour after hour —/NEHEE—/INI . F after EEEW AR
BRI, B — AR, R E A E
g, 1.

day after day H % — H year after year £ H —4F

one by one “— M E—A" RIBMAFHE .

. —_______is the population of China? |
—It's about 1.3 billion. And it's growing .
A. How much, hours after hours '
B. How many,hours after hours !
C. What,hour after hour {
D. How about, hour after hour '
2. Bi—8,IBEAET !
|

|

HFL—F,PREET EXEL,

a PA S
(D multiply Z“F" 8
(2)multiply. . . by TR “FH -+ FRLL "o M2
1f you multiply four by three, the answer is 12.
ML 4 A 3, 55R 2 12,

Six multiplied by five js30. 6% 5=30,

4. We know eight five forty.
A. multiply,is B. multiply,are
C. multiplied, is D. multiplied by, is

5. 3#&2*_‘?’&

6. HMNME M5 R,

(2)"by + MEREE T AT A SR “by+ ¥t
LA AT AT — MRS, A0 )

By the time he was ten, he had built a chemistry lab for
himself. ZEA+ 2 HORHE, (LB H B CBE T —MUFERE,

- SO SSRGS Sy

0 togobackhomebytano’c!cckmis‘{
evening. Or they will be worried. 2
A. has B. had !

C. will have D. would have i

| Fg.__Tha film for ten minutes by the time wei
e |
~ A. has begun B. had begun |
C. has been on D. had been on j

(DAER to live in fE/G BEE 8 % 17 space.
() 4EBTEAERS PLAZEFEEE SRR
ot AR ERX R RA BWBIA, BB 45 R AR R A A
ﬂg ﬁﬂ:

There is no chair to sit on. A T4,

1 need some paper to write on. R E— &5 F 4.

9. They have no money andno place . i
A. 1o live In B. to live i
" C. living in D. living

10. You must have something D

A. to worry B. fo worry about

C. to worrying D. worrying about |

11, AARS FEUK, ‘

12. A L & Bk, l
_ —— A




hardly B, RAR“JLFAR", 8F hardly (95 738 ¥ B0
HEES. W
He was so excited that he could hardly say a word.
iAWz , AT —A)E iR A 3

et <
i 13. anyone believes him because he often
!tellsane

| A. Almost  'B. Hardly, " C. Nearly  D. Hard

‘ 14. Trie little boy can hardly walk, ?

| A. can he B. can'the C. ishe D. don't he
{ 15. WEdBJL-FE A,

|

16 ALFRHGRMESR,

|

\'-- ; = =t — EATES e O LA P gt I

[mERrEE 1]
R Lesson 50 P75 [E1 T 7 (A] 88
1. What do you think isthegmatestchallengeoflthewa-ldtodny?

2. How is the world"s population growing?

3. When was the population over 6 hillion?

4. How big will the world"s population be by the year 20107

5. What will happen in about 600 years?

[REETEZ 2]
4% Lesson 50 A%, MEFHHAHER A RS

period population
2000 years ago

400 years ago
at the beginning of the 20th century
in 1970
in 1990
at the beginning of the 21st century
by the year 2010

[cB&TE =D 3]
BENEAE, AFEP N A48 FRb2xHE

A:Excuse me, Miss Black. 1

B:Not very big,but I don’t think it's small. ] have two brothers.
The older one is married.

A:Do your brother and his wife have any children?

B:Yes. 2

A:Boys or girls?

B:A boy and a girl.

A:Oh, how lucky they are!

B:In China, there are still quite a lot of large families.

A:_ 3  Thanks to the “one-child” policy (B{¥), less and less
families now have more than one child. _ 4

B:_ 5 Is your family large?

A:No, I have only one sister, but my grandparents also live with
us.

B:In America, many children live far away from their parents
when they are just 18 or 19.

A: In China, tco. More and more young people live far away from
their parents when they are married.

How about your family?

My sister-in-law (##-F) gave birth to twins last Match.
Are you married?

So more and more families are becoming richer and richer.
Do you have a big family? )

I agree with you.

. I don’t think so.

OmMmmUoow»
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1. The increasing population may be the greatest ¢ of the
world today.

2. Everything is difficult at theb .
3. Chinaisoneof thed _ countries,
4. One day,people have top _ food for over 370,000 more mouths.
5. That means that in about 600 years, there will bes  room
only on the earth.
I. B5UERE
6. do you know is the population of England?
A. Which .JWhat  C. Howmany  D. How much
7. I'm afraid there for us on Ll-le..bl_ﬁ,'

A. are no room B. isn't any rooms
C. aren’t any rooms (D. is no room. '
8. China is becoming ;

|A. more and more strong B. more and more stronger

. much more stronger D. stronger and stronger

9, the new-year,wearew/faybusy.
A. In the begining of K]B{‘ In the beginning of
C. At the begining of . At the beginning of

10. The population is growing .
A. hours after hours B. hour after hour
(C. days after days D. an hour after an hour
11. ' THey will come back to England for Christmas
A. alter three day’s time B. in three day's time
C. after three days / T)/ in three days’ time
12. It is said the I,;x:})u]ﬂtion of the-world ‘may be seven billion

e |
A, by the year 2010 B. by the 2010
C. in the 2010 D. in 2010 year -
13. The population of France is than Great
Britain.
A. smaller, X B. large, ¥
C. smaller, that of D. large, that of

14. There won't be enough space the earth in one
hundred years.
A. toliveon B. tolivein C. toliveinon D. living on in

15. We have done a lot the population increase .

A. to stop B 1o slow down
C. to keep D;_im prevent
(GRE@R] ==
. RERE

Since 1920, the population of China _ 16 . With over one
hillion peaple today, China accounts for 23 percent of the world’s
population. This increase is _ 17 problem in China's plans to
modernize itself. In order to 18  this population problem,
China has begun a“one-child” policy. This __ 19 that married
couples have to limit their families to one child even if they would
like 20 more children. This policy has been most effective in

big cities where residents( & & )live in crowded apartments. In the
countryside, however, the _ 21  say they are hard pressed to
limit their families to one child since they need more children
22  the farm work. Factories and farms reward “one-child”
families 23  free medical care, better housing, extra vacation,
and cash bonuses( &M ) . If couples have more than one child they
lose these benefits and their salaries may _ 24 " by 10 percent or
even more. This wend(##) of “one-child” families should
25  China's population growth to a rate of 1.3 percent per year.

16. A.double = B. doubled C. has doubled D. had doubled
17.A.asmall B.agreater C.an important D, the greatest
18. A. solve B. answer C.do D. work

19. A. mean B. means C. is meant D. meant
20.A.having  B.to have C. making D. to make
21, A.officers B.workers  C.farmers D. teachers
22. A. help B. to help C. help with D. to help with
23.A.10 B. with C.for D.in

24.A. et B.becutted C.be cut D.is cut
25.A. keep B. stop C. prevent D. slow down
[BIFFE]

V. FigE  EEERER

BEIJING ( Xinhua )—Chinese have started to enjoy cars at
low prices after the country became a member of the World Trade
Organization (WTQ). At the same time, competition between
people has become stronger. According to the China's Ministry of
Personnel{ A ZEEB) , about 170 million people will lose their jobs
after the country has joined the WTO.

However, many Chinese people living in other countries have
come back home to face the challenges(HEiR) . So far, about 130
thousand people have returned. These days, people, especially
youths, have got to know the challenges of entry to the WTO.
Books on the WTO have been hot selling. Some people are
learning more about the WTO by going to night schools.

26. This passage is probably

A. astory B. anote C. aletter D. anews report
27. According to the passage, how many people will lose their jobs

after China has entered the WTO? About

A. 170,000 B. 170,000,000
C. 130,000 . D. 300,000,000

28. Who cares more about the challenges of entry to the WTO?
A. Old people. B. Children.

C. Young people. D. People from other countries.
29, In this passage, ‘hot selling” means

A. the books sell well

B. the books sell at high prices

C. people buy the books on hot weather

D. people buy the books because they are new
30, What is the main idea of this passage?

A. China has entered the WTO.

B. China meets the WTO challenges.

C. Meany Chinese people have returned from foreign countries.

D. Some Chinese people are learning about the WTO by

grﬁng to night schools.
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prefer T [, EE KM EE .
prefer H WLAYLSHIA
_ prefer sb. /sth. EPIFEANTHEY
_prefer to do sth. /doing sth. T JEHIE S
_ prefer sb, to do sth. TR A
prefer sth. to sth. BEXK-++o- oo
1p_ret'v:r doing sth. to doing sth.
TR i A TR

1 prefer to walk there rather than go by bus.
RTFESTEHIL, TABRESE,

| 1.1 praferred working outside to staying at home. !
= | preterred outside

| stay at home.

| 2. We prefer at the party rather than
1; A. sing,dance B. sing, to dance

C. to sing,dancing
3 KBk, RERE,

D. to sing,dance

4LATBRYFREBNE, ;

1 beg your pardon? B/ERM VT ME, N EE
—i#i , th 7] 1R Your pardon? BY, Pardon?

. A: My telephane number is 82828892, I

. What? B. Repeat!

. Pardon? D. All right!

. —___ ] mistook you for Lily.
—It doesn’t matter.

5

By

A: | say my telephone number is 82828892. |
& {
C

6

A. Excuse me B. Sorry
C. Pardon D. | beg your pardon
7 4 » can you tell me the way lo the nearest
hospital? !
A. Bxcuse me B. Sorry [
D. | beg your pardon

C. Pardon

worth BAMETR 2597, B R E7E "

y worth A EfE &
B fEREN, G HRE A doing FE3 .
(1)"be worth + FHHE R Z 17" TR “H-----HHHE". 0.

The dictionary is worth sixty yuan. 2R H{EA 76,
(2)*“be worth + doing” 7R “EBM". 0

The book is worth reading. X4 {H3iE.

The story-is worth listening to. XM (EHE—F
(3)*be well worth doing” F7 TR —1K" . 10

The book is well worth buying. XA HREH—XE,

8. The report is very interesting. It is

worth |
| A good, listening B. very, listening i‘
| G wellistening to D. well, listening
| 79, Their TV set is old and broken. It isn't worth |
it
1 A. mending it B. mending !
| C. being mended D. for mending 'z
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' M XA RS, i
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: They will go there by air.

: There is going to be a meeting this evening.

We are going to buy a new house.

I am going to visit the Summer Palace.

: My friend will come over to my home this weekend.

: We will start earlier tomorrow morning.

[ERES) 2]
RIS E

: 1 youread today’s newspaper?
: No,1_2

.3 there any important news?

: There's a report about the population of our country. It says

China had got another 16,000,000 people in 1990.

: Oh,the population is growing _ 4 and _§ .
: If the population goes on growing like this, it will be the

biggest 6 in our country.
7 course it will. China has the _ 8  population in the

world. The babies born in one year are almost as many _ 9
the population of Australia.

: I"m afraid there will be standing _ 10 _only in our country

some day.

: But if every family has only one 11 , things will tum for

the better.

P
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e HREF—W.
1. Excuse me, where is the nearest library, please?
[ZBEERN 1] 2. Welcome 1o our city! Would you like to look around it?
{5 RURTE, B 1 3. What will the weather be like next week?
Model: A: 1'm going to see a film. 4. Hello! Can I speak to Betty, please?
B: What did he say just now? 5. Oh, I'm afraid 1 have to go now. [ must meet a friend at 5:30.
C: He said he was going to see a film, 6. Would you mind locking after my schoolbag? I have to go back
: 1 will go to the barber’s. for my keys.
7. I'm sorry for giving you so much trouble.
8. What do you want to do when you grow up?
: My parents will go to Paris. 9. I haven’t seen you for ages. How are you getting on?

10. Why didn’t you come to Mary's party last Sunday?

. Oh,you'd better hurry.

Sunny.

Nobody told me.

It doesn’t matter.

Yes, I'd like to. It's beautiful here.
Behind the cinema.

. Quite well. Thank you.

. Hold on, please.

1. No problem. I'll be glad to.

J. To be & teacher.
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t Is there going to be a football match this week? (Tom

ed...) (G HB—H)

2. He will come to see you in two days. (She told me. .. ) (&3
—%])

3. Why won't go to Ann’s birthday party? (I asked him...)
(%iﬂ".ﬁi—g »

4, She said to me, “1 will buy a used car because it is much
cheaper. "(BUh ERIBNAME S )

5. “I will be here early. "he promised. (B S EEMNDME S
a])

6. The ice is so thin that we can’t skate on it. (MR #4))

The ice isn't for us

7. The bag is so heavy that the boy can't carry it. (A 2%4] )
The bag is heavy the boy
carry.

8. Bill is 50 tall that he can reach the apple. (B} i #4])
Bill is to reach the apple.

9. They can hardly finish their work. (B4 X #E5E[) 7))

They can hardly finish their work. _ ?

10. The watch is worth 100 yuan. (GREREZEB S48 (R])

is the watch worth?

11. The old man prefers tea to milk. (B [E SLa)

The old man likes tea milk.

12. The [armers preferred working in the fields 1o staying at
home. (7[R SC4])
The farmers preferred

stay at home.

in the fields
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According to a recent report from the UN, the world’s
population ¢ 13 to grow. It could r 14 8.9 billion in the
year of 2025.

But d 15  the past 10 years or so,a large rapid drop in the
world's birth rate( i =% ) has t_ 16  place. Families generally
(% H)are s 17 now than they were a few years ago. It is
happening in b 18 developing and developed countries.

China has already cut its rate of population growth by about
onehalf s 19  1970.Each Chinese familyisa 20 to have no
more than one child. And the hope is to reach a zero population
growth rate by 2000.

Several countries in Europe already have a negative growth
rate. Experts (% %) said that these countries would not have

e 21  workers in the future. And the people who arew 22
could face much higher taxes(BL) to support the growing retirees
GERAR).

13.c 14.r 15.d 16.1
17.s 18.b 19.s 20.a
21.e 22.w

(I8 ALR)
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Life in the 21st century will be different from life in the 20th
century, because many changes will take place in the new century,
but what will the changes be?

'T‘hepopulatmnmgmmngfast There will be more and more
people in the world and most of them will live longer than before.
Computers will be much smaller and more useful,and there will be
at least one in every home. And computer studies will be one of the
most important subjects in school.

People will work fewer hours than they did in the 20th century,
and they will have more free time for sports, watching TV and
travelling: Travelling will be much cheaper and easier. And many more
people will go to other countries for holidays.

There will be changes in our food, too. More land will be used
for building new towns and houses. Then there will be less room
for cows and sheep, so meat will be more expensive. Maybe no one
will eat it every day, instead they eat more vegetables and fruit.
Maybe people will be healthier.

Work in the future will be different, too. Dangerous and hard
work will be done by robots. Because of this, many people will not
have enough work to do. This will be a problem.

23. People may not have as much as they did in the

20th century.

A. fruit B. milk C. bread D. meat
24. In the 21st century people don't have to

A. travel B. work fast

C. work long hours D. eat meat
25. Travelling will be then.

A. less interesting B. more difficult

C. more expensive D. much cheaper and easier
26. In the 21st century there will be '

A. more cows and sheep B. mare people

C. fewer people D. less buildings and houses
27. Every family will have at least one in the 21st

century.

A. computer B. TV set C. VCD D. robot
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